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Paper XVI — MANAGEMENT ACCOUNTING
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Time : 3 Hours | Maximum Marks : 75

(Write your Roll No. on the top immediately_on receipt of this quesﬁ'on paper.)

INote_ — (O " The maximum marks printed on the question paper
are applicable for the candidates registered witﬁ_ the
School of Open Learning. These marks will, however,
be scaled down proportionately in respect of the
'students of regular colleges, at the time of posting

of awards for compilation of result.
(i) Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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Attempt-all the questions.
Show your workings clearly
mﬁ LS ﬁﬁm:

T wE W w9 H quied |

I. (@) What is a Budget Manual ? What matters are included
in it ? , 3
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fre sm & 2
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(b))  “Anitem of cost is direct for one business may be indirect

(V¥

for another.” Explain with suitable examples.
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(¢)  From the following information, calculate :
() Material Cost Variance '
(if) Material Price Variance and

(iif) Material Usage Variance

Standard putput _100 units
Standard material per unit | 3 kg
Standard price per kg. Rs. 2
Actual output 80 units

P.T.O.
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Actual price per kg. Rs. 2.50
Act‘ual materials used 250 kg. 9
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(@) What is profit-volume graph ? How is it dfawn ?2 6

®)

mﬂ-mww@m%?%%@@mm

T 2

Standard set for material consumption was 100 kg. @

Rs. 2.25 per kg.

In a cost period : Opening stock was 100 kg. @ Rs. 2.25

per kg.

Purchases made : 500 kg. @ Rs. 2.15 per kg.

Consumption 110 kg.

P.T.O.
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(1) Calculate:
(;) Usage variance -

(i) “Price variance if accumulated at the point of

purchase.

(iii) Price variance when variance accumulates at the

point of issue on FIFO basis,

(iv) Price variance when variance is accumulated at

the point of issue on LIFO basis.
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What is the effect on the closing stock valuation
when material are charged out to cost on basis (iii)

and (iv) above ? | 9
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«Standard costing and Budgetary control system vary in

. scope, despite the similarity in the basic principles”.

Comment. 3
;‘Wam—ﬁakm aﬁxaﬁaﬂﬂﬁa‘arﬂmrsﬁtm
& for 9 % vl o ol P # e
T feoo wifs)

What do you understand by variance analysis 23 '
TR faveee ¥ S9 oA §HEd § 2

Write short notes on :

() Limitations of Budget

(if) Profit Centre

(iii) Principal Budget Factor 9
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The details regarding a food product manufactured by ABC Co.

for the last one week are as follows :

Standard cost (per unit) - - Rs.
Direct m;nerials 10 units @ Rs. 1.50 15
Direct wages 5 hours @ Rs. 8 40
Production overheads 5 hours @ Rs. 10 50-
Totdl E

P.T.O.

P.T.O.



{10
Actual (for whele acitvity)
Direct materials
Direct wages
Analysis of variances
Direct materials.:
Price
Usage
Direct Wages (Labour) :
~ Rate
Efficiency
Production Overheads :

Expenditure

Volume

Rs. 6,435

Rs. 16,324

Rs. 585 (Adverse)

Rs. 375 (Favourable)

Rs. 636 (Favourable)

Rs. 360 (Adverse)

Rs. 400 (Favourable)

Rs. 750 (Favourable)

5795
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You are required to-calculate :

()  Actual output units

(ify  Actual price of material per unit

(i) Actual wage rate per Ia.bour hour

(iv) The amount of production overhead incurred and

(v The production overhead efficiency variance 15
ABC FU g fiftfd @@ s Hedt awdEe frsd
Th 9<e F 3H YR R

W T (uﬁf' =) z.
Jeae |t 150 & H W F

o9 ® fr s
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State the importance of the technique of marginal costing

in decision making. , 3

frofg o1 H dma @ fAukor = aede @@

HES AR

'Explain the meaning of relevant cost. What are the

characteristics of such cost ? 3

TR AT %878 Wt S wife | T AT
=t fogromnd @ € 2
Avbusiness has a capacity of 5,000 units with the existing

plant and machinery. The cost records reveal the foliowing

information :
(i) Fixed Overheads Rs. 10,000
(éf) Variable cost per unit Rs. 6

(iity Selling price per unit ' Rs. 10
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The management is interested in increasing produciton.
The following additional fixed overheads are expected to

be incurred.

Exceeding 5,000 units but not exceeding

10,000 units. Rs. 20,000
Exceeding 10,000 units Rs. 20,000

Plot the above data on a break-even chart. 9
% oEEE § HeE W 9w § 5,000
IfE ¥R A F g T ArE w REE
frafafeg god WA Sod ©

() T SUReE 10,000 %.
) 9fa qﬁz qftadt @rTd ' 6.
iy wfa gfe faswa &ia , 10 %

P.T.O.
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(@) A company is manufacturing three product details of which,

for the last year, are given below :

Product Price Variablg cost Per cent of total
per unit Sales value
" Rs. Rs. %
A 2 10 )
B 2 15 3
c 20 12 %3
Total»ﬁxed 'costs_ per year ‘ Rs. 1,10,000

Total sales v Rs. 5,00,000
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You are required to work out the break-even point in rupee sales
for each product assuming that the sales mix is to be
retained.

TF FI qH IAE % fme s T e fee
o w1 qREe e R ¥

% k3 %

A 2 10 40

B 25 15 35

C 2 12 25
gfa Erﬂf E] ot @ | © 1,10,000 %
| E gl ft_vﬁﬁ 5,00,000 %

P.T.O.
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(b) The management has approved a proposal to substitute
producf C by product D in the coming year. The latter
product .has a selling price of Rs. 25 with a variable cost
of Rs. 12.§O per unit. The new sales mix of A, B and D

is expected to be S0 : 30 : 20.

Next year fixed costs are expected to increase by Rs. 31,000.

Total sales are expected to remain at Rs. 5,00,000

You are required to work out the new break-even point

in rupee sales and units for each product.
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What is your comment on the decision of the management

regarding changing product mix ? 15

wﬁaaﬁmﬁ%aﬁﬁuﬁa%ﬁﬁqw

et fewt ¥ 2
P.T.O.
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(@ S .Ltd. produces a ‘variety of products and components;
The fol]owing components with relevant rﬁanufacturing
costs are under consideration for purchase from
outside -:
Component Direct - Direct | Variable Fixed ﬁought
Material | Labour | Overhead | Cost Out price
Rs. Rs. Rs. Rs. Rs.
A | 6 2 1 _ 3' -8
B 2 8 2 10 23
C 1 2 3 5 12

Two of these components are to be bought from outside supplier

at the price indicated above. Discuss which part should be bought

from outside.



( 21 )

5795

s fefide oiF TR B IR S HeH H TR F

%‘nﬁmﬁf@mmﬁﬁ;ﬁﬁﬁ#ﬁﬁmwﬁm

mﬁ@ﬂﬁﬁmfﬂ’aﬂmmm%:

ww | vaw | vaw| uRed |l | e
orh | sw | oftera | | @
= . ‘5'. T | %
A 6 2 ! 3 J
B > | o8 > | w0 | B
c T 3 s | n»

ﬁﬁﬁamwaﬁéﬂimﬂaﬁéw'

@@ﬁﬁ%lﬁéﬂﬂaﬂmﬁﬁ@mw%@ﬂ%

e

P.T.O.



(b)

« 22 ) 5795

A mechanical toy factory presents the following informa-

tion for the year 2012 :

Material cost (Rs.) 1,20,000

Labour cost (Rs.) » 2,46,000
Fix§d overheads (Rs.) 1,20,000
Variable overheads (Rs.) 60,000
Units produced 12,000
Selling pﬁce per unit (Rs.) . 50

The available capacity is a production of 20,000 units per
year. The firm has an offer for the purchase 'of -5,000
additional units at a price of Rs. 40 per unit. It is expected

that by accepting this offer there will be a saving of rupee
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one per unit in material cost on’all units manufactured.
The fixed overhead will increase by Rs. 35,000 and the
overall efficiency wil} drop by 2% on ail production. State

whether offer is acceptable or not. 9

uw S o Bed ad 2012 & fae Frafated

W@waﬂ?ﬁ%

greElt ®t (%) 1,20,000
g9 orma (%) 2,40,000
gl suferE (%) 1,20,000
et uiemd (%) 60000
Fm oW Mg 12.000
fara Ha g e (F'), 50

P.T.O.
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C company prepares a cost volume profit budget analysis

for each plant as per details below :

CFT FY Ky T Rl & AR o A
% U A 31Fe @Y A faveiver Y9 w5
¥



(@

( 25 ) 5795
Profit plan for plant 1 shows annual budgeted fixed costs
Rs. 12,00,000, variable costs Rs. 8,40,000; and sales value
of production Rs. 22?00,000. Allocated head office
Budgeted fixed costs are Rs. 3,20,000. You are asked to
prepare an analysis indicating‘thé break-even points before
and after cost allocation. Expiain why the b.r.eak-even point

change (in Rs:) is greater than allocated amount.

ﬁﬁﬁl%ﬁ{g@ﬂaﬁmmm%ﬁwﬁﬁ

TR ST 12,00,000 5., GRS ST 8,40,000 T. SR

| ST T FEt e 22,00,000 T €1 fafum gue

e S TR ST 320,000 T 1 STTH
Tt & Ted oiR Wi # - st fagai

P.T.O.
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Plant 2 produces a product that sells at Rs. 40. It costs
Rs. 42.50 whien 15,000 units are produced. At a production
level of 20,000, the cost per unit is Rs. 38.125. What~ is
the break-even point in Rs. and in units ?

T 2 T IR W E W 40 ’@ﬁfﬂaﬁr%l
e 79 TR HI 15,000 YA E I @ THan
ARIA 42.50 & W ¥ 20,000 FFE B IARA
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Plant 3-Budgeted income and cost

follows :

Sales (annual) -

Costs :
Fixed Rs. 4,00,000
Variable Rs. 3,00,000

Head Office allocatgd Rs. 3,50.000

Loss

5795

estimates are

Rs. 10,00,000

Rs. 10,50,000

Rs. 50,000

Sale of plant 3 is under consideration. What is your

recommendation based on the data given 7 Justify your

recommendation.

P.T.O.
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“Plant 4 produces one product : The budgeted income and

cost estimates are as follows :

Sales (annual) @ 200 Rs. 2,0’00’00,0
Costs

Fixed ' Rs. 7,47,500

Variable Rs. 13,50,000

Hpad Office Allocated Rs. 5.02.500 Rs. 26,00,000

Loss Rs. 6,00,000

How many additional units must be manufactured in the
plant in order t0 break-even 7 What would be the profit

pick up pef unit above l;reak—even ? 15

P.T.O.
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Discuss briefly the structure of Responsibility
Accounting. 5
Ereioeloeicau et Kl LG RECEE]
ﬁﬁq-i
How will you measure the divisional performance ”
Suggest some important financial measures. 5
fsor oA F ST S T 2 HE e
forita sl ! HERT|
Enumerate the steps in implementation of Responsibility
Accounting System.
s R R A 5 o

1 IeoiE HITeT |
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Distinguish between :.
(f)  Absorption costing and Variable costing
(i) Product costs and Period cost 6 -
IR TR
() am?rsrﬂrama—ﬁu’m 3R ufterdt wmra-frafoo
(i) SEE-AFTE. 3R rEfy @ |

Explain efficiency variance as to material, labor and

overhead and, so the relation among them. 9
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